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1. Calculate the momentum of a 4.0 kg object traveling at a velocity of 12.0m/s east.


  2. A 5.0 kg object has a momentum of 25.0 kgm/s west.  What is its velocity? 


 
3. An object has a velocity of 8.0 m/s south and a momentum of 36.0 kgm/s south.  What is its mass? 

 

4. An object has a velocity of 2.0 m/s east and a momentum of 29 kgm/s.  What is the weight of the object? 

 
5. A 6.6 N object is traveling at a velocity of 3.0 m/s north.  What is the object’s momentum?

6. A 7.0 kg object travels 2.6 m west in 1.1 s.  Assuming uniform velocity, what is the momentum of the object? 

7. A 5.0 kg object is dropped from a height of 2.5 m above the floor.  What is the object’s momentum after 0.25 s? 

 
8. A 1.0 kg ball hits the floor with a velocity of 2.0 m/s.  If the ball bounces up with a velocity of 1.6 m/s, what is the ball’s change in momentum? 

 
9. A 0.144 kg baseball is pitched horizontally at + 38 m/s.  The batter hits a horizontal line drive at – 38 m/s  (the opposite direction!).  What is the ball’s change in momentum? 

 

10. The 1205 kg physics dragster is traveling at 35 km/h east when it hits the gas and accelerates at 12.5 m/s2 for 3.25 s. What is its change in momentum during this time?







IMPULSE PROBLEMS

1. A rocket at rest with a mass of 9.5 x 103 kg is acted on by an average net force of 1.5 x 105 N upwards for 15 s.  What is the final velocity of the rocket? 



2. A 26.3 kg object is traveling at 21.0 m/s north.  What average net force is required to bring this object to a stop in 2.60 s? 


 3. An average force of 31.6 N south is used to accelerate a 15.0 kg object uniformly from rest to 10.0 m/s.  What is the change in momentum? 



 4. An average net force of 25.0 N acts north on an object for 7.20 x 10‐1 s.  What is the change in momentum of the object? 



 5. A 5.00 kg object accelerates uniformly from rest to a velocity of 15.0 m/s east.  What is the change in momentum on the object? 
6. An average net force caused an 11.0 kg object to accelerate uniformly from rest.  If this object travels 26.3 m west in 3.20 s, what is the change in momentum of the object?


7. A 1.30 kg object is dropped from a height of 6.5 m.  How far did the object fall when its momentum is 6.0 kgm/s?



8. An average net force of 16.0 N acts on an object for 2.00 x 10‐1 s causing it to accelerate from rest to 3.50m/s.  What is the mass of the object?


9. A 0.500 kg object is thrown vertically upward with an average applied force of 8.20 N by a student.  The force is applied through a displacement of 1.50 m. 
a. What is the average net force acting on the object?


b. What is the velocity of the object when it leaves the student’s hand? (Assume initial velocity is zero)
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IMPULSE PROBLEMS

1. A rocket at rest with a mass of 9.5 x 10° kg is acted
on by an average net force of 1.5 x 10° N upwards for
15 s. What is the final velocity of the rocket?
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6. An average net force caused an 11.0 kg object to
accelerate uniformly from rest. If this object travels
26.3 m west in 3.20 s, what is the change in
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2. A 26.3 kg object is traveling at 21.0 m/s north.
What average net force is required to bring this object
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.30 kg object is dropped from a height of 6.5
m. How far did the object fall when its momentum is

6.0 kgm/s?
to a stop in 2.60 s?
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4. An average net force of 25.0 N acts north on an
object for 7.20 x 10-' s. What is the change in
momentum of the object?
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5. A 5.00 kg object accelerates uniformly from rest

to a velocity of 15.0 m/s east. What is the change in
momentum on the object?
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9. A 0.500 kg object is thrown vertically upward with
an average applied force of 8.20 N by a student. The
force is applied through a displacement of 1.50 m.
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a. What is the average net force acting on the object?
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b. What is the velocity of the object when it leaves
the student’s hand? (Assume initial velocity is LLI‘O)
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MOMENTUM PROBLEMS

1. Calculate the momentum of a 4.0 kg object 6. A 7.0 kg object travels 2.6 m west in 1.1 s.
traveling at a velocity of 12.0m/s east. Assuming uniform velocity, what is the momentum
‘ . of the object?
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) 7. A 5.0 kg object is dropped from a height of 2.5 m
2. A'5.0 kg object has a momentum of 25.0 kgm/s above the floor. What is the object’s momentum

west. What is its velocity? aﬂer 0.25s?
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8. A 1.0 kg ball hits the floor with a velocity of 2.0

m/s. If the ball bounces up with a velocity of 1.6 m/s,
what is the ball’s change in momentum?

i = 48 AD: m(V —Vo\

3. An object has a velocity of 8.0 m/s south and a
momentum of 36.0 kgm/s south. What is its mass?
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v 8 9. A 0.144 kg baseball is pitched horizontally at + 38
m/s. The batter hits a horizontal line drive at — 38
4. An object has a velocity of 2.0 m/s east and a m/s (the opposite direction!). What is the ball’s

momentum of 29 kgm/s. What is the weight of the change in momentum?
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5. A 6.6 N object is traveling at a velocity of 3.0 m/s

north, What s theiobject'simomentum® 10. The 1205 kg physics dragster is traveling at 35

km/h east when it hits the gas and accelerates at 12.5
m/s2 for 3.25 s. What is its change in momentum
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